Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

Tx i3 an algebraic term in which 7is a and xisa

-

Answer | Please select your correct option )

r

term, eXpression

coefficient, variable

Correct Answer Solved By Hadi
usmanraj20@email.com

03228043306

variable, coefficient

numerical, alphabet

YWeade By: Wager Siddhu



Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

9x% +3x+4 is

-

Answer | Please select your correct option )

an equation
(..

a term
.

an algebraic expression
O
- duadmagieaiation Correct Auswer Solved By Hadi

usmanraj2(gemail.com -
2 -
Cs228043308 Weade By: Wacdger Siddhu



Question No : 3 of 26

xn-2xyt x5 =0
TWhich of the following is the coefficient matris for the system

Marks: 1 (Budgeted Time 1 Min)  [=]

2%, —7x;= 817
—dx +3x,+9% =6

Answer | Please select your correct option )

-

12 1
“llo 2 =

Correct Answer Solved By Hadi
usmanraj20@email.com
03228043306

YWeade By: Wager Siddhu



Question No : 4 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

Two simultaneous linear equations in two variables have no solution if their corresponding lines are

-

Answer | Please select your correct option )

r

parallel and distinct

Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306

intersecting

coincident

perpendicular

YWeade By: Wager Siddhu



Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min)  [=]

-

1 05 35
If reduced echelon form of a linear systemis (0 1 1 6| when free variable x; = 0, then which of the following is true for it?
0000
Answer | Please select your correct option )
o The particular solution is( 0, 5.6 )
= The particular solution is( 6,50 )
The particular sohution 15( 560 ) Correct Answer Salved By Hadi
r v usmanraj20@email.com
03228043306
- The particular solution 15[ 0,6,5 ) 2
&
YWeade By: Wager Siddhu




Question No : 6 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

If A iz an mX<pmatriz and Ax =& has a sclution then which of the following is true?

-

Answer | Please select your correct option )

A has a pivot position in every row. Correct Answer Solved By Hadi
e, usmanrsj20@email.com
03228043306
det{A)=0.
.
Echelon form of A has at least one row of zeros
C
b Spanioy.ay ... Q,}.
C -
Weade By: Wacdger Siddhu




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

If a homogeneous system Ax = 0 has a trivial solution, then which of the following iz (are) the value(s) of the vectorx 7

-

Answer | Please select your correct option )

r

=

0 Correct Answer Solved By Hadi
usmanraj20@email.com
03228043306
1
2

YWeade By: Wager Siddhu



Question No : 8 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

If T: 8" = B be alinear transformation defined by T(x) = Ak (for all ‘e R, then which of the following iz true for 4 7

Answer | Please select your correct option )

r

A is a singular matrix.

A 15 a square matrzx.

A 15 a umque matrix.

Correct Answer Solved By Hadi
usmanraj20Zgmail.com
03228043306

A 15 not a unique matrix.

YWeade By: Wager Siddhu



Question No : 9 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

H

23]

TWhich of the followmg is true for the linear operator L defined by L[ [

)

-

Answer | Please select your correct option )

It is an enlargement by a negative scale factor.
(..
Tt is a shear.
.
It1s a reflechion about X —axis. Correct Answer Solved By Hadi
Is usmanraj20@gmail.com
03228043306
It is areflection about ¥ —axis.
o -
-
Weade By: Wacdger Siddhu




Question No : 10 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

I T be atransformation , then which of the following is true for its nearity 7

-

Answer | Please select your correct option )

Tlcugdv)=c T(@) gd TH) ; where ‘¢’ and “d are scalars
c
Tleu +dvi=cT(u)+d T(V); where "¢ and *d are scalars
'e Correct Answer Solved By Hadi
usmanraj2l@email.com
03128043306
Tleuxdv)=c T) xd T(v); where "¢’ and *d " are scalars
C
T(cit +dvy=d T@) +c T(¥), where ‘v’ and ‘4 are scalars
o -
Weade By: Wacdger Siddhu



Question No : 11 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

2 1 1+1 2=1 .
I A= 4 and 5= , then which of the following iz true for 4 and & 7

] 2+2  4-1

-

Answer | Please select your correct option )

r

A and B are equal matrices.

Correct Answer Solved By Hadi
usmanraj2(gemail.com
03128043306

A is the transpose of B.

B is the transpose of A.

B 15 the mulhpheative mverse of A,

YWeade By: Wager Siddhu



Question No : 12 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

T#rhat 15 the mazitmum possible number of pivots in a 6 %6 matriz ?

-

Answer | Please select your correct option )

2
.
4
.
& Correct Answer Solved By Hadi
r usmanraj20@gmail.com
03228043306
1]
T -
YWeade By: Wager Siddhu




Question No : 13 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

2
I A= [Q] and B =[ R S] (where P, (', R and 5 are square sub-matrices of same size ), then which of the following iz possible 7

-

Answer | Please select your correct option )

r

The product A5 iz defined but B4 1z not defined.

The product A5 i3 not defined but B4 iz defined.

Correct Answer Solved By Hadi
usmanraj2gegmail.com
03228043306

The product A5 and 54 both are not defined.

The product A8 and 54 both are defined.

YWeade By: Wager Siddhu



Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

Which of the fellowing is true for the matrix 4=

3 where Ay, Aoy and Agy are square sub-matrices , and FO7 is 2 zero sub-matrn: ¥

Answer | Please select your correct option )

r

It is a block upper triangular matriz.

Correct Answer Solved By Hadi
usmanraj2gemail.com
03218043306

Ttis a block lower triangular matriz.

Tt is diagonal-constant matriz.

It1s a DNull matree.

YWeade By: Wager Siddhu



Question No : 15 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

If a matrir A is factorized into lower and upper triangular matrices , then which of the following is true for the matrix 7

-

Answer | Please select your correct option )

r

Ttis called an LTF -procedure.

Itis called an LI -decomposthon.

Correct Answer Solved By Hadi
usmanraj20gemail.com
03228043306

It1s called an LI -matrices.

Itis called an LT -algonthm.

YWeade By: Wager Siddhu



Question No : 16 of 26 Marks: 1 (Budgeted Time 1 Min)  [=]

-

=

4 , then which of the following is the minor of entry a,, 7

M=[

Answer | Please select your correct option )

2
c
3 Correct Answer Solved By Hadi
Is usmanraj20@gmail.com
03228043308
4
C
5
T -
YWeade By: Wager Siddhu




Question No : 17 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

TWhich of the following is true for the coefficient matrix in the Cramer’s Ruls 7

-

Answer | Please select your correct option )

Tt must be invertible . Correct Answer Solved By Hadi
(8] usmanraj20@gmail.com
03228043306
Tt must be singular .
.
It may or may not be invertible .
O
It may or may not be non - smgular .
L8 -
Weade By: Wacdger Siddhu




Question No : 18 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

If a set W be a subspace of a vector space ¥, then which of the following is NOT true for it 7

-

Answer | Please select your correct option )

Tt must be closed under the scalar multiplication .
(..
It may or may not be closed under the operation of addition .
'e Correct Answer Solved By Hadi
usmanraj20Zemail.com
03228043306
Tt must have an additive inverse of each element .
O
It must be commutatrre under the operation of addiion .
(8] -
Weade By: Wacdger Siddhu



Question No : 19 of 26

Marks: 1 (Budgeted Time 1 Min)  [=]

If the set #"={0,1,2, 3}, then which of the following is true for it 7

-

option 3 or 4

Answer | Please select your correct option )

It is closed under operation of addition .
P

Tt is a vector space .

Tt is commutative under operation of addition .

It has an additve mverse of each element .

YWeade By: Wager Siddhu



Question No : 20 of 26 Marks: 1 (Budgeted Time 1 Min)  [=]

iy cl{)l + ¢y ‘;‘2 + 63{?3 oty {;p =10, and vectors \.11 : ‘;‘2 , ‘:!3 e {“p all are lnearly mdependent then which of the following 15 true ?

if dependent
then option 2 -
Answer | Please select your correct option )
o Ol Gy =i om Cprs 0 Corract Answer Solvad By Hadi
usmanraj20Zgmail.com
03228043306
O F G ECGE ...icp =0
I
) FECy=C= ...:cPiO
C
o F =0y = 70},:0
C

YWeade By: Wager Siddhu



Question No : 21 of 26 Marks: 2 (Budgeted Time 4 Min)  [=]

-

2 0 1 -7
If a matriz 4 iz decomposed into £ = [3 1] and U= [0 1 ] by LI factonization , then find A.

Answer | Please click here to Add Answer )

D S| @ BE|o o |E L |@|100%_||
INDr'naI IAr\aI |12 Zl B £ 0 H—_

" YWede By: Wadger Siddhu



Question No : 22 of 26 Marks: 2 (Budgeted Time 4 Min)  [=]

-

1

4 23 . r i
, then determine whether z = | 4 | isin Muf 4 ornot ?

If A=
[l 3 2
5

Answer | Please click here to Add Answer )

D S| @ BE|o o |E L |@|100%_||
INDr'naI IAr\aI |12 Zl B £ 0 H—_

" YWede By: Wadger Siddhu



Question No : 23 of 26 Marks: 3 (Budgeted Time 6 Min)  [=]

-

3a
Let W be the set of all vectors of the form | 2a |. Find avector ¥ in B such that W =Span{v).

[+

Answer | Please click here to Add Answer )

=EESE| 0 BR e o #4|E L 1T|E||100%_||
INDr'naI _”Ar\al _”12 =zl Bz o H— = ;

" YWede By: Wadger Siddhu



Question No : 24 of 26

Marks: 3 (Budgeted Time 6 Min)  [=]

Construct partitions of the following matrix into three 2 % 2 blocks :
12 3 41 3]

345 6 3 4

-

Answer | Please click here to Add Answer )

D2ESR| o =ML G | E [weE)

INDF.'FIE| L”Ar\al L”12 ;I B 7 U Hg_

YWede By: Wadger Siddhu



Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min) =]

Show that the coefficient matriz of the following linear system is strictly diagenally dominant. Also caleulate the second fteration using Gauss — Seidel method if the first iteration is =
A7 AP A =131 04,0938
1W0x+2x+ x=13
2x 10z + x=13

2xm+ 1y +10x5=13 -

Answer | Please click here to Add Answer )

D@ ESa] #E e o |[E) Ce e oo =]
INDF.'FIE| L”A"‘ﬁ' L”12 LI B 7 HH;_

YWede By: Wadger Siddhu



Question No : 26 of 26

Marks: 5 (Budgeted Time 10 Min) =]

a+h a-h d a a- a4
Showthat | b+k  b-k e |=2|b b-k e
g g o e E

a

Answer | Please click here to Add Answer )

D= ESR | 7| o o8] 5ale q|@|m%_||

INDr'naI IAr\aI |12 _I B 7 U H—_

YWede By: Wadger Siddhu





